Memorial University Tuition Fees and Charges Archive Academic Year 2024-25

Application and Admission Fees:

Fee	Description	Amount
General Application Processing Fee: this fee is payable with each application for admission or readmission to the University.	Undergraduate students who have never attended a post- secondary institution or who have previously attended Memorial, excluding medical students	\$60
	Undergraduate students who have attended a post-secondary institution outside of Newfoundland or who are non- Canadian applicants, excluding medical students	\$120
	Undergraduate students who are non-Canadian applicants, excluding medical students	\$300
	Medical students	\$255
	Graduate students	 Canadian Applicants \$60 Non-Canadian Applicants \$120
Faculty Application Fee in addition to General Application Processing Fee.	School of Pharmacy	 Canadian applicants: \$125 International applicants: \$175
	School of Music	 Bachelor of Music (B.Mus): \$40 Bachelor of Music and Bachelor of Business Administration (B.Mus/BBA): \$40 Master of Music (M.Mus): \$40
Penalties for Noncompliance with Payment of Application and Admission Fees Late fees: all late fees are payable when assessed.	 Late application fee up to one week after deadline: Each subsequent week to final date for receipt of applications: 	\$30 \$10/week
Admission Fees in addition to General Application Processing Fees:	 Bachelor of Technology Bachelor of Maritime Studies 	\$300 \$300

Tuition and Related Fees:

I

Undergraduate Students - Tuition	NL Residents	Canadian & Permanent Residents	International Students
Tuition fee, Undergraduate Students (other than Medicine) (per credit hour)	\$216	\$216	\$721
Tuition fee, for 2021/22 grace period Undergraduate Students	\$96	\$125	\$430
(other than Medicine) (per credit hour)			
Co-operative education (per work term)		\$600	\$1,020
Tuition fee, Doctor of Pharmacy (Pharm.D) for Working Professionals (per credit hour)		\$545	N/A
Tuition fee, Medical Students (annual)		\$14,250	\$30,000
Tuition fee, Post-Graduate Medical Residents & Interns (annual)	\$500		

Pharm.D Tuition (Cohort Start Academic Year 2022/23):

Academic Year	Annual Tuition	Number of Semesters	Amount per Semester	Base Tuition *	Clinical Tuition
2022-23	\$13,000	2	\$6,500	\$3,600	\$2,900
2023-24	\$13,328	3	\$4,443	\$2,843	\$1,600
2024-25	\$13,656	3	\$4,552	\$2,952	\$1,600
2025-26	\$14,073	3	\$4,691	\$3,225	\$1,466
2026-27	\$14,122	2	\$7,061	\$3,861	\$3,200

* Amount varies depending on actual credits.

Pharm.D Tuition (Cohort Start Academic Year 2023/24):

Academic Year	Annual Tuition	Number of Semesters	Amount per Semester	Base Tuition *	Clinical Tuition
2023-24	\$13,288	2	\$6,644	\$3,744	\$2,900
2024-25	\$13,656	3	\$4,552	\$2,952	\$1,600
2025-26	\$14,025	3	\$4,675	\$3,075	\$1,600
2026-27	\$14,460	3	\$4,820	\$3,354	\$1,466
2027-28	\$14,419	2	\$7,210	\$4,010	\$3,200

* Amount varies depending on actual credits.

Pharm.D Tuition (Cohort Start Academic Year 2024/25):

Academic Year	Annual Tuition	Number of Semesters	Amount per Semester	Base Tuition *	Clinical Tuition
2024-25	\$13,576	2	\$6,788	\$3,888	\$2,900
2025-26	\$14,025	3	\$4,675	\$3,075	\$1,600
2026-27	\$14,394	3	\$4,798	\$3,198	\$1,600
2027-28	\$14,604	3	\$4,868	\$3,402	\$1,466
2028-29	\$15,002	2	\$7,501	\$4,301	\$3,200

* Amount varies depending on actual credits.

Graduate Students - Tuition	Description	Current Rates
		NL / CDN / INT'L
Graduate Diploma	Program Cost:	\$3,780 / \$4,914 / \$6,390
	Per semester (9 semesters)	\$420 / \$546 / \$710
	Continuance Fee (8.15%)	\$308 / \$400 / \$521
Graduate Diploma in Education	Program Cost	\$3,780 / \$4,914 / \$6,390
(Reading Development & Instruction)	Per semester (4 semesters)	\$945 / \$1,228 / \$1,598
	Continuance Fee (8.15%)	\$308 / \$400 / \$521
Master's Programs:	Program Cost:	\$5,718 / \$7,434 / \$9,666
(other than specified below)	Per semester (6 semesters)	\$953 / \$1,239 / \$1,611
	Plan A Full-Time	
	Per semester (9 semesters)	\$635 / \$826 / \$1,074
	Plan B Part-Time	
	Continuance Fee (8.15%)	\$466 / \$606 / \$788
Master's One Year Programs	Program Cost:	\$3,939/\$5,121/\$6,654
eligible for PlanC (list below)	Per semester (3 semesters)	\$1,313/\$1,707/\$2,218
	Plan C One Year	
 Master of Accounting Master of Applied Statistics 	Continuance Fee (8.15% Plan A)	\$466 / \$606 / \$788
 Master of Arts (non-thesis) in 		
Anthropology, Economics, English		
Language & Literature,		
Environmental Policy, Political		
Science, Religious Studies and		
Sociology Master of Arts (German Language & 		
Literature)		
 Master of Arts (History) 		
□ Master of Arts (Philosophy)		
I Master of Business Administration		
(Social Enterprise & Entrepreneur)		
□ Master of Data Science		
 Master of Education (Educational Technology) – UCCB advanced 		
standing only.		
Master of Environmental Science		
 Master of Occupational Health & Safety 		
□ Master of Public Health (Population		
& Public Health) Master of Science (non-thesis) in 		
Mathematics		
Master of Science in Applied		
Geomatics		
□ Master of Science in Medicine –		
Applied Health Services Research (new students Fall		
Research (new students Fall 2024) – Professional Stream		
	<u> </u>	

Graduate Students - Tuition	Description	Current Rates NL / CDN / INT'L
 Master of Science in Medicine (Applied Health Services Research) Master of Artificial Intelligence Master of Applied Science in Software Engineering Master's Course Based Programs identified below (new students Fall 2022) Master of Applied Ocean Technology Master of Maritime Management Master of Technology Management Master of Science (Nursing) 	Program Cost Per semester (6 semesters) Continuance Fee (8.15% Plan A) Program Cost Per semester (4 semesters) - Plan D Continuance Fee (8.15% Plan A) Program Cost: Per semester (6 semesters) - Full-Time Per semester (9 semesters) - Part-Time Continuance Fee (8.15%)	NL / CDN / INT ² L \$12,000 / \$12,000 / \$12,000 \$2,000 / \$2,000 / \$2,000 \$466 / \$606 / \$788 \$7,434 / \$7,434 / \$9,666 \$1,858.50 / \$1,858.50 / \$2,416.50 \$606 / \$606 / \$788 \$12,000 / \$12,000 / \$15,600 \$2,000 / \$2,000 / \$2,600 \$1,334 / \$1,334 / \$1,734 \$606 / \$606 / \$788
 Master of Education (excl. RDI) Master of Human Kinetics and Recreation Master of Science (Computer Science) Master of Social Work Doctoral Programs	Program Cost Per semester (12 semesters) Continuance Fee (8.15%)	\$10,656 / \$13,848 / \$17,988 \$888 / \$1,154 / \$1,499 \$868 / \$1,129 / \$1,466

Certain graduate programs have a differential tuition/special fee component which is charged in addition to the semester fees above.

Graduate Programs with Special Fees in addition to Program Costs:	Total Special Fee Domestic / INT'L	Allocation of Charges Domestic / Int'l
Graduate Diploma Programs:		
Graduate Diploma in Business Administration	\$3,000 / \$6,000	Charged \$333.33 / \$666.67 in each semester (1-9)
Graduate Diploma in Education (Reading Development & Instruction)	\$3,500 / \$3,500	Charged \$875 in each semester (1-4).
Graduate Diploma in Post-Secondary Education (Student Affairs and Services)	\$2,500 / \$2,500	Charged \$625 in each semester (1-4).
Graduate Diploma in Post-Secondary Education (International Education)	\$2,500 / \$2,500	Charged \$625 in each semester (1-4).
Master's Programs:		
Master of Accounting	\$11,282 / \$11,282	Charged \$3,760.66 in each semester (1–3)
Master of Applied Science	\$15,302 / \$20,282	Charged \$9,981 / \$12,969 in semester 1
(Computer Engineering)	(non-refundable)	and \$5,321 / \$7,313 in semester 2.
Master of Applied Science		
(Energy Systems Engineering)		

Graduate Programs with Special Fees in	Total Special Fee	Allocation of Charges
addition to Program Costs:	Domestic / INT'L	Domestic / Int'l
Master of Applied Science (Environmental		
Systems Engineering & Management)	\$11,602 / \$16,282	Charged \$7,761 / \$10,569 in semester 1
Master of Applied Science	(non-refundable)	and \$3,841 / \$5,713 in semester 2.
(Oil & Gas Engineering)		
Master of Applied Science		
(Safety & Risk Engineering)		
Master of Applied Science (Software Engineering)	\$15,302 / \$20,282	Charged \$3,825.50 / \$5,070.50 in each semester (1–4)
Master of Applied Science (Sustainable Infrastructure Engineering)	\$11,602 / \$16,282	Charged \$2,900.50 / \$4,070.50 in each semester (1–4)
Master of Artificial Intelligence	\$15,302 / \$20,282	Charged \$3,825.50 / \$5,070.50 in each semester (1–4)
Master of Business Administration	\$12,000 / \$24,000	Charged \$2,000 / \$4,000 in each semester (1–6)
Master of Business Administration (Social Enterprise & Entrepreneurship)	\$20,000 / \$25,000	Charged\$10,000/\$12,500 in semester 1 and 2.
Master of Education (Counselling Psychology, M.Ed. (CP))	\$8,500 / \$8,500	Plan A – to be paid \$1,417 in each semester 1-6
		Plan B – to be paid \$944 in each semester 1-9
Master of Education	\$2,550 / \$2,550	Charged \$1,275 in semester 1 and 4.
(Educational Technology)	φ2,5507 φ2,550	
Master of Education		Charged \$1,250 in each semester (1-6)
(Reading Development & Instruction)	\$7,500 / \$7,500	Plan A. Charged \$833.33 in each semester (1-9) Plan B.
Master of Employment Relations	\$10,000 / \$10,000	Charged \$1,667 in each semester (1–6)
Master of Fine Arts in Visual Arts	\$1,500 / \$1,500	Charged in semester 1.
Master of Management	\$10,000 / \$10,000	Charged \$1,667 in each semester (1-6).
Master of Occupational Health and Safety	\$10,000 / \$10,000 (non-refundable)	Charged \$5,000 in semester 1 and 2.
Master of Public Health	\$1,460 / \$1,460	Charged \$730 in semester 1 and 2.
Master of Science (Data Science)	\$15,302 / \$20,282	Charged \$5,100.66 / \$6,760.66 in each semester (1-3).
Master of Science Management	\$5,250 / \$10,250	Charged \$875 / \$1,708.33 in each semester (1-6).
Master of Science in Medicine – Applied Health Services Research (new students Fall 2024)		
Research Stream (2-year thesis route)	\$6,282 / \$6,282	Charged \$1,047 in each semester (1-6)
Professional Stream (1-year course route)	\$10,061 / \$10,061	Charged \$3,353.67 in each semester (1-3)
Doctoral Programs:	1	
Doctor of Philosophy (Management)	\$12,000 / \$12,000	Charged \$1,000 in each semester (1-12).

Tuition Related Fees	Undergraduate Students	Graduate Students	Medical residents (6 mth. enhanced skills program)
Campus Renewal Fee ** (per credit hour)	\$16.67 to a maximum of \$250 per semester	\$166.67 per semester	\$250 per 6-month program
Student Services Fee (per semester/program)	\$50 per semester	\$50 per semester	\$75 per 6-month program
Recreation Fee (Works) (per semester/program)	\$71.44 per semester / \$35.72 per session	\$71.44 per semester	\$107.16 per 6-month program
Centre for Innovation in teaching and Learning (CITL) (per credit hour)	\$17 administrative fee for NL addresses.\$34 administrative fee for out-of-province addresses.		
Student Refugee Program Fee (per semester)	\$2 for both full-time and part-time undergraduate students on St. John's Campus.		
Media Fee (per semester)	\$4 for both full-time and John's Campus.	l part-time undergr	aduate students on St.
Student Union Fee (per semester/program)	\$55.05 (full-time, SJ) \$23.58 (part-time, SJ) \$65.00 (full-time, GC) \$27.50 (part-time, GC) \$5.00 SUB Fund, GC	\$30.85	\$5 annually for post- graduate residents & interns
Cdn. Federation of Students Fee (per semester/program)	\$5.50 in Fall and Winter semesters.	\$5.50 in Fall and Winter semesters.	\$11.00
Student Health Plan (per semester)	SJ - \$168.00 (single) GC - \$96.43	\$559.56 (single) (annual)	\$168.00 (single)
Student Dental Plan (per semester)	SJ - \$94.50 (single) GC - \$61.05	\$368.88 (single) (annual)	\$94.50 (single)
Cdn Nursing Student's Association Fee (annual)	\$11 (full-time) \$7 (part-time)		N/A

** Please Note: The Campus Renewal Fee will be paused for the academic year commencing September 2024 to August 2025.

Miscellaneous Fees:

Description	Amount
Challenge for Credit Fee (per course)	50% of fee associated with the credit hour value
Reread of Final Examination Fee	\$50
Supplementary Examination Fee	\$50
Change of Examination Location Fee	\$50
Deferred Examination Fee	\$65
Registrar's Office Service Fees:	
Official Transcript:	\$10 per transcript
Replacement Parchment:	\$60
Certified Copy of Parchment:	\$10
Verification of credential/attendance:	\$15
Confirmation of Enrolment letter:	\$10 (requested online)
	\$15 (requested in-person)
	\$2 per additional letter
Completion of Forms (excludes Student Loan or	\$15 per form
Pension forms):	
Letter of Permission for Students Studying at	\$30 per institution, per semester
Other Universities:	
Student Parking Fees: Students may purchase	\$24.22 (plus tax) per semester.
permits on a semester basis:	\$12.11 (plus tax) evenings and weekends only.
Academic Prep Week – Grenfell Campus	\$312 (This fee is non-refundable after August
	26, 2024)

Residence & Meal Plans:

Description	St. John's Campus	Grenfell Campus
Application fee (per semester)	\$40	\$20
Deposit (per semester)	\$500	\$500
Cancellation charge	\$500	\$500
Residence fees (per semester, per person)	MacPherson \$2,718 (single)	Residence Complex \$1,821 (standard)
	Paton College • \$2,042 (double) • \$2,310 (single) Burton's Pond Apartments • \$2,526 (single) • \$4,392 (family unit, per apartment) Signal Hill Campus graduate students \$675 - \$850 per month.	Arts & Science Residence Hall • \$1,711 (standard) • \$1,851 (bachelor) Chalet Apartment • \$1,953 (standard) • \$3,007 (family)
Break rent (per night, per person)	 Paton College \$19 Burton's Pond Apartments \$19 	 Arts & ScienceResidence \$16.45 New Residence Complex \$17.51 Chalet \$18.78
Meal Plan (per semester) Fall: 5 day unlimited (includes \$200 flex dollars) or 7day unlimited (includes \$100 flex dollars)	\$2,915	N/A
Winter: 5 day unlimited (includes \$200 flex dollars) or 7 day unlimited (includes \$100 flex dollars)	\$3,025	N/A